MATH 330 HWT KEY

: d’(gim’z 76:(51423)

1@ vy

4 ‘\a/

) o ()= o(s)=] X (@) =A(4)=2
o (o () =K (3)= o<(oz(43)::o<(z7:4’r

o (er(B)) = ()=

- " - .,,_.{'
) (xe®B) =% << "2 87 o o

® 514 23 (24531)="2"
— 12 345 :

s if -1 5 ) @
47 («) w24 S 3\
- C<=(543 2.\) Z ose 3

(O’o%j‘:(l35‘\'2,)

oy k=23 A
d)q - O<::(2_t34)
o = (12 4 3)

A = (43‘2\)

5= (3214

Q\L



2. (aﬂ More +Hram 2 odd vertices (2)3/4)5)
No civeoit or ?Q-“\'x'\

N O cive ot
No Po.,’k‘\m

0 odd verices (1)6)

+

\\) E XCVC:L'\\[

No cwivrevl

Q!

g -



(l H ) E\/‘G’M\} Ve tex even 3&

N
(;)2;45“5,4)5/5}278)7/3j1)

| 'l 234 5 478 e
(C‘j Vo S O o a0 o
Voo oo b o 1 \4
Ak ©C C VY o\ o < ) ]
4‘0 © \ o\ oo 0|2 Chrevr T
| SXO | S N YR W e JR O P8
é{O ] O o \ O o o
T 0 | o o ool 2
%H\;D \ o o o o \° ZJ
3, () A s sywme t¢ e (\rows) c.o\umy\s)
e‘ & -
2 No Civort (edd vertices)
Z P ot LG.XG&A'\\' 2, odd ueH'tQS)
| %
| %
2.
Ct;\) \S 'S\l mmetric 2 (L(Q;

*

e

P 3 + R
, o
NO Clvrcn T

N b e o
¥*%



\'S S \‘k W yNh e Jf" a )i C.

A

e

Z

’22: 1\[ EC_W"C.UX“’(‘
4 |

4 |
2

3 (a) * .
7\// = “ \@ ¥
f\\@ Baka =
A g
(e) ' \;“/ -
o 2 9,,%:_:}@4
\ /|
co* —e |



°

/k, A VS ‘5\1”\‘4\’\\’.«’\’\"\@ QJ\(\C\) Y w g
T\ne n o bex b-p Vel T ces & q

Yow 1 soms Yo 3
row 2 SomsS Yo &

Fow 3 SUMS —\-'0 \ LUMS ‘\_D Zé
row 4 sums  Fe > phich s evem
Yow 5 SumsS te 2 -

Yo Ww b SumS +o = 1 kﬂ@ﬁQd GNE
voro 1 sums to ¥ \3 ec\%e,s
Now & SumsS to 2.

row sumS Yo 2

Thevre bs NO c,\rc_u;-\' oY ?Q,-%\f\
be 0awse —Thae oxe Yoo oMy

5dd Ver ¥ices

\£ we cJ\f\omcbq, v
L Ahen we howe o Pa:‘Hm

Aaq ‘o L —— AA)GA‘OL

Bk D omd vow ¥

\£ we Maen Dnonge vow L amd

cow L amd oW 2 w
o ‘3—5\!’00'&“'. _\homae A\}
Aé\ Lo 0 +hen a\\ vw-&'\w-s‘ 0 &
eveh v & Hheve \S O c.wcut-’r.



5 (m\ ) (‘ | k*‘*
Neer | TN \‘\A

Excel Sevead Queet

See

(o) l
Oukpot s gu“zfj\%ew%
(b) S dvar (%o, Yol ‘

()

9 A= (Y Ge—9



